
 

 

 



 

 

 

 



 

 

 

 

 

Ejercicio 2 Pórtico 



 

 

 

 

 

 

 

Suma (MB)=0 

5*raiz(2)*0,5 +10*2-2*RD=0 → RD= 11.83 kN 

Suma (Mizq C)=0 

Rc*1-Hc*1-10*1-10*1=0 → Hc=-8.2 kN 
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Sigma> 7.3 kNm/W → W>52 cm3 

Predimensionado 

IPN 12 W=54.7 cm3 A=14.2 cm2 

7.3/54.7+11.8/14.2 > 140 MPa 

 

Entonces cambio a IPN 14 

W=81.9 cm3       A=18.3 cm2 

7.3/81.9+11.8/18.3 = 95.6 MPa 

 

Calcular las tensiones rasantes máximas (se dan en la barra  DG en el baricentro de la sección). 

Tau =47.7cm3*8.2 kN  / (573cm4*0.66cm)= 10.4 MPa 

 

 

 


